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SPECIALIST MATHEMATICS 
 

Units 3 & 4 – Written examination 1 
 

 
 

 

(TSSM’s 2014 trial exam updated for the current study design) 

 
SOLUTIONS 
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1 mark for shape and 1 mark for end-points 
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 

   9)2(log49)1(log4

9
1

4

1

0

1

0

1

0

2






















ee yyVolume

dy
y

Volume

dyxVolume







 

M3+A1 

Question 7 

a.  

 

A2 

b. ag 515)30sin(5   

2/9.1

2

19
5

sma

a




 

M1+A1 

c. 0)150cos(5  gR  

gR
2

35
  

M1+A1 

 

R 

5g 

15N 

30° 



SPECMATH EXAM 1 
 

 TSSM 2014     Page 6 of 6 
                                                                                                                                                        

Question 8 

a. )20(  Tk
dt

dT
 



























5

6
log

5

1

50

60
log

1
570,5

60log
1

)20(log
1

60log
1

80,0

)20(log
1

e

e

ee

e

e

k

k
Tt

k
T

k
t

k
cTt

cT
k

t

 

M2+A1 

b. 











20

60
log

1
10

Tk
e  

CT

eT

e
T

k

k


















3

2
6120

6

5
60

2060

20

60

2

10

10

 

M1+A1 

 


